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IPassage 1

Questions 1—9

Are organically grown foods the best food choices? The
advantages claimed for such foods over conventionally grown
and marketed food products are now being debated. Advocates

of organic foods a term whose meaning varies greatly

frequently proclaim that such products are safer and more
nutritious than others. '

The growing interest of cofisumers in the safety and nutri-
tional quality of the typical North American diet is a welcome
development. However, much of this interest has been
sparked by sweeping claims that the food supply is unsafe or
inadequate in meeting nutritional needs. Although most of
these claims are not supported by scientific evidence, the pre-
ponderance of written material advancing such claims makes it
difficult for the general public to separate fact from fiction, As
a result, claims that eating a diet consisting entirely of organi-
cally grown foods prevemts or cures disease or provides other
benefits to health have become widely publicized and form the
basis for:folklore.

Almost daily the public is besieged by claims for “no-ag-
ing” diets, new vitamins, and other wonder foods. There are
numerous unsubstantiated reports that natural vitamins are su-
perior to synthetic ones, that fertilized eggs are nutritionally
superior to unfertilized eggs, that untreated grains are better

than fumigated grains, and the like.



One thing that most organically grown food products

seem to have in common is that they cost more than conven-

tionally grown foods. But in many cases consumers are misled

if they believe organic foods can maintain health and provide

better nutritional quality than conventionally grown foods. So

there is real cause for concern if consumers, particularly those

with limited incomes, distrust the regular food supply and buy

only expensive organic foods instead.

1.

The word “Advocates” in line 3 is closest in meaning to
which of the following?

(A) Proponents

(B) Merchants

(C) Inspectors

(D) Consumers

In line 6 the word “others” refers to

(A) advantages

(B) advocates

- (C) organic foods

(D) products

The “welcome development” mentioned in.lines 8—9 is an

increase in .

(A) interest in food safety and nutrition among North
Americans . -

(B) the nutritional quality of the typical North American
diet

(C) the amount of healthy food grown in North America

(D) the number of consurmers in North America

4. According to the first paragraph, which of the following is
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true about the term “organic foods”?
(A) It is accepted by most nutritionists,
(B) It has been used only in recent years.
(C) It has no fixed meaning.
(D) It is seldom used by consumers.
. The word “unsubstantiated” in line 21 is closest in meaning
to
. (A) unbelievable
(B) uncontested
(C) unpopular
(D) unverified
. The word “maintain” in line 28 is closest in meaning to
(A) improve
(B) monitor
(C) preserve
(D) restore
. The author implies that there is cause for concern if con-
sumers with limited incomes buy organic foods instead of
conventionally grown foods because
(A) organic foods can be more expensive but are often no
better than conventionally grown foods
(B) many organic foods are actually less nutritious than
similar conventionally grown foods
(C) conventionally grown foods are more readily avajlable
than organic foods
(D) too many farmers will stop using conventional methods
to grow food crops
. According to the last paragraph, consumers who believe
~ that organic foods are better ‘than conventionally grown
3



foods are often
(A) careless
(B) mistaken
(C) thrifty
(D) wealthy

9. What is the author’s attitude toward the claims made by ad-
vocates of health foods?
(A) Very enthusiastic
(B) Somewhat favorable
(C) Neutrsl
(D) Skeptical
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Passage 2|

Questions 1—13

Atmospheric pressure can support a column of water up
to 10 meters high. But plants can move water much higher,
the sequoia tree can pump water to its very top, more than 100
meters above the ground. Until the end of the nineteenth cen-
tury, the movement of water in trees and other tall plants was
a mystery. Some botanists hypothesized that the living cells of
plants acted as pumps. But many experiments demonstrated
that the stems of plants in which all the cells are killed can still
move water to appreciable heights. Other explanations for the
movement of water in plants have been based on root pres-
sure, a push in the water from the roots at the bottom of the
plant. But root pressure is not nearly greé:t enough to push
water to the tops of tall trees. Furthermore, the conifers,
which are among the tallest trees, have unusually low root
pressures.

If water is not pumped to the top of a tall tree, and if it is
not pushed to the top of a tall tree, then we may ask; How
does it get there? According to the currently accepted cohe-
sion-tension theory, water is pulled there. The pull on a rising
. column of water in a plant results from the evaporation of wa-
ter at the top of the plant. As water is lost from the surface of
the leaves, a negative pressure, or tension, is created. The e-
vaporated water is replaced by water moving from inside the
plant in unbroken columns that extend from the top of a plant

6 .



to its roots. The same forces that create surface tension in any
sample of water are responsible for the maintenance of these
unbroken columns of water. When water is confined in tubes
of very small bore, the forces of cohesion (the attraction be-
tween water molecules) are so great that the strength of a col-
umn of water compares with the strength of a steel wire of the
same diameter. This cohesive strength permits columns of wa-

ter to be pulled to great heights without being broken.

1. How many theories does the author mention?
(A) One
(B) Two
(C) Three
(D) Four

2. The passage answers which of the following questions?
(A) Whet is the effect of atmospheric pressure on foliage?
(B) When do dead cells harm plant growth?

—— €y How does water get tothe tops of treest—

(D) Why is root pressure weak?

3. The word “demonstrated” in line 7'is closest in meaning to
(A) ignored
(B) showed
(C) disguised
(D) distinguished

4. What do the experiments mentioned in lines 7-9 prove?
(A) Plant stems die when deprived of water.
(B) Cells in plant stems do not pump water.
(C) Plants cannot move water to high altitudes.

(D) Plant cells regulate pressure within stems.



. How do botanists know that root pressure is not the only
force that moves water in plants?
(A) Some very tall trees have weak root pressure.
(B) Root pressures decrease in winter.
(C) Plants can live after their roots die.
(D) Water in a plant’s roots is not connected to water in its
stem.
. Which of the following statements does the passage sup-
port?
(A) Water is pushed to the tops of trees.
(B) Botanists have proven that living cells act as pumps.
(C) Atmospheric pressure draws water to the tops of tall
trees,
(D) Botanists have changed their theories of how water
moves in plants.
. The word “it” in line 16 refers to
(A) top

(B 4

(C) water

(D) cohesion-tension theory

. The word “there” in line 18 refers to
(A) treetops

(B) roots

(C) water columns

(D) tubes

. What causes the tension that draws water up a plant?
(A) Humidity

(B) Plant growth

(C) Root pressure

8



(D) Evaporation
10. The word “extend” in line 24 is closest in meaning to
(A) stretch
(B) branch
(C) increase
(D) rotate
11. According to the passage, why does water travel through
plants in unbroken columns?
(A) Root pressure moves the water very rapidly.
(B) The attraction between water molecules is strong.
(C) The living cells of plants push the water molecules to-
gether. )
(D) Atmospheric pressure supports the columns.
12. Why does the author mention steel wire in line 307
(A) To illustrate another means of pulling water
(B) To demonstrate why wood is a good building material
(C) To indicate the size of a column of water
—— D) To-emphasize-the strength-of cohesive forces in water
13. Where in the passage does the author give an example of a
plant with low root pressure?
(A) Lines 4—6
(B) Lines 7—9
(C) Lines 13—15
(D) Lines 16—17
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Passage 3

Questions 1—9

For a century and half the piano has been one of the most
popular solo instruments for Western music. Unlike string and
wind instruments, the piano is completely self sufficient, as it
is able to play both the melody and its accompanying harmony
at the same time. For this reason, it became the favorite
household instrument of the nineteenth century.

The ancestry of the piano can be traced to the early key-

board instruments of the fifteenth and sixteenth centuries
the spinet, the dulcimer, and the virginal, In the seventeenth
|~ Century the organ, the clavichord, and the harpsichord became
.1_ the chief instruments of the keyboard group, a supremacy they
maintained until the piano supplanted them at the end of the
eighteenth century. The clavichord’s tone was metallic and
never powerful, nevertheless, because of the variety of tone
possible to it, many composers found the clavichord a sympa-
thetic instrument for intimate chamber music. The harpsi-
chord with its bright, vigorous tone was the favorite instru-
ment for supporting the bass of the small orchestra of the peri-
od and for concert use, but the character of the tone could not
be varied save by mechanical or structural devices: v
The piano was perfected in the early eighteenth century
by a harpsichord maker in Italy (though musicologists point
out several previous instances of the instrument). This instru-
ment was called a piano forte (soft and loud), to indicate its
11



dynamic versatility; its strings were struck by a recéiling ham-
mer with a fell-padded head. The wires were much heavier in
the earlier instruments. A series of mechanical improvements
continuing well into the nineteenth century, including the in-
troduction of pedals to sustain tone or to soften it, the perfec-
tion of a metal frame, and steel wire of the finest quality., fi-
nally produced an instrument capable of myriad tonal effects
from the most delicate harmonies to an almost orchestral full-
ness of sound, from a liquid, singing tone to a sharp, percus-

sive brilliance.

1. What does the passage mainly discuss?
(A) The historical development of the piano
(B) The quality of tone produced by various keyboard in-
struments
(C) The uses of keyboard instruments in various types of
compositions
(D) The popularity of the piano with composers
2. Which of the following instruments was widely used before
the seventeenth century?
(A) The harpsichord
(B) The spinet
(C) The clavichord ,
(D) The organ
3. The words “a supremacy” in line 11 are closest in meaning
to
(A) a suggestion
(B) an improvement
(C) a dominance
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